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13.

14.

15

16.

17.

19

20.

21.

22.

The Consumer Protection Act came into
force on—

(A) 15th January 1987

(B) 15th February 1987

(C) 15th March 1987

(D) 15th April 1987

Which of the following is source of Trypsin
enzyme ?

(A) Saliva (B) Gastric Juice
(C) Pancreatic Juice (D) None of these

Where is the Head Quarters of “World Bank” ?

(A) Manila (B) Washington D.C.
(C) Japan (D) None of these
Young Bengal Movement was started by—
(A) C.R. Das

(B) Henry Derezio
(C) Ravindra Nath Tagore
(D) Arvind Ghosh

Which of the following races Tharu consider
as their ancestral race 7

(A) Kirat (B) Kol

(C) Bhii (D) None of these

Who of the following introduced silver coin
called ‘tanka’ ?
(A) Akbar

(C) Mtutmish

(B) Balban
(D) None of these

Who was/were the brother/s of Humayun ?
(A) Kamran Mirza (B) Askari
(C) Hindal (D) All of the above

Ujjain is situated at the bank of—
(A) Kschiprariver (B) Chambal river
(C) Godavari (D) Narmada river

Narsinham Committee related to—
(A) Higher Education (B) Tax structure
(C) Banking structure (D) None of these

Which of the following is fish—
(A) Sea cow (B) Sea horse
(C) Sea lion (D) None of these
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14.
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16.

17.

18.
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20.
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23. Name the Earth like planet discovered
recently by NASA’s Kepler Telescope—
(A) Kepler-252b (B) Kepler-522b
(C) NASA -452b (D) Kepler-452b

24. Bagalihar Project lies on the—
(A) Jhelum river (B) Ravi river
(C) Chenabriver (D) None of these

25. Which combination is wrong—
(A) Uttarakhand State Animal — Kasturi Mrag
(B) National River — Yamuna
(C) Uttarakhand State Game — Football
(D) None of these

26. Choose correct combination—
(A) Govind National Park — Uttarkashi
(B) Kedarnath Wild Life Santuary— Chamoli
(C) Askot Wild Life Sanctuary — Pithoragarh
(D) All of above are correct
27. Rajaji National Park is situated at which disrict—
(A) Dehradun (B) Haridwar
(C) A & B both (D) Nainital

28. Match the following—
List-1
(a) Chandra Shila
(b) Bhim Shila
(¢) Kal Shila
(d) Bhragu Shila

List - II
(1) Mana village
(2) Kedar Nath
(3) Tungnath
(4) Near Kalimath

Code: a b ¢ d ;
(A) 3 4 2 1
B) 3 1 4 2
© 3 2 4 1
D) 3 4 1 2
29. Someshwar is situated at—
(A) Almora (B) Nainital

(C) Pithoragarh (D) Bageshwar

30. Choose incorrect combination—

23,

24.

23.

26.

27

28

(A) Assam — Dispur
(B) Nagaland — Shilong
(C) Manipur s Imphal
(D) Sikkim — Gangtok
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31. Who is the present Chief Secretary of
Uttarakhand—
(A) N. Ravishankar (B) Subhash Kumar
(C) Rakesh Sharma (D) None of these

32. Vivekananda Parvatiya Krishi Anusandhanshala
is located at—
(A) Dehradun (B) Champawat
(C) Nainita! (D) Almora

33. Lok Sanskriti Sangrahalaya is located at—
(A) Bhimtal (Nainital) (B) Haridwar

(C) Chamoli (D) Uttarkashi
34. Molaram Painting Museum is located at—
(A) Dehradun (B) Almora

(C) Srinagar (Pauri) (D) Champawat

35. Who is the Higher Education Minister of
Uttarakhand—
(A) Harish Rawat (B) Indira Hirdesh
(C) Yaspal Arya (D) Harak Singh Rawat

- 36. Whoisthe Anglo Indian Community M.L.A.
of Uttarakhand—
(A) Y. P. Gardner
(C) A. K. Desai

(B) V. P.Joseph
(D) V. R. Gardner

37. Choose correct combination—
(A) Dr. Khadagh  — Shanti Swaroop

Singh Valdia Bhatnagar Award
(B) Dr. Diwan Singh — C. V. Raman
Bhakuni Award
(C) Ruskin Bond  — RamanMagsaysay Award

(D) A & B both are correct

38. LagBaomer festival is associated with which
religion ?
(A) Islam (B) Jewish
(C) Jainism (D) None of these

 39. The winner of World Walter Weight title of
‘Boxing is—
(A) Manny Pacquiao
(B) Bundrage
(C) Floyd Mayweather Junior
(D) None of these
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40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

The currency of Indonesia is—

(A) Rupiah (B) Dinar

(C) Rangit (D) Riyal

g1, — members of SAARC.
(A) 2 (B) 17

) 8 (D) None of these

Which country is venue for the first ever
Asian Youth Athletic Championship - 2015—
(A) China (B) Qatar

(C) Japan (D) None of these
The First World War was began in—
(A) 1901 (B) 1902

(C) 1921 (D) 1914

Which country is the World’s largest
producer of coffee ?

(A) Brazil (B) China

(C) India (D) None of these

Who won the best actress award at the 62nd
National Film Awards ?

(A) Priyanka Chopra (B) Vidya Balan

(C) Kangana Ranaut (D) Rani Mukherji

Hall mark certification is related to—
(A) Textile (B) Grocery
(C) Services (D) Gold

The battle of ten kings was fought on the
bank of—
(A) Shatudri
(C) Vitasta

(B) Parushni
(D) .None of these

Askini is the ancient name of which river—

(A) Saraswati (B) Ghaggar
(C) Chenab (D) Beas
The oldest Veda’s is—

(A) Atharvaveda (B) Samveda
(C) Yajurveda (D) Rigveda

Whose Prime Minister was Kautilya ?
(A) Chandra Gupta Maurya

(B) Ashoka

(C) Chandra Gupta

(D) None of these
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51.

32.

53.

54.

55

56.

Which scale is the largest one—
(A) lcm=50m (B) 1 cm=150km
(C) 1:42000 (D) 1 cm=5000 km

The angle of intersection of two plane mirror
of an optical square is—

(A) 30° (B) 90°

(C) 45° (D) 60°

In a closed traversing line QRSTQ with a
compass the following bearing were observed—

Line FB BB
QR 104°30’ 284°30'
RS 48°15' 226°0’
ST 290°30' 1152156
TQ 180°15' 35715’

Which station were affected by local
attaraction—
(A) Qand R
(C)Sand T

(B) Rand S
(D) Qand T

A series of closely spaced contour lines
represents—

(A) Plane surface
(C) Steep slope

(B) Uniform slope
(D) None ofthe above

Satellite station S is established during a
triangulation survey as shown—

The angle a is equal to—
(A) a=Q~B +B,

B) a=Q+B,+B,

(©) a=Q+B,-B,

(D) a=90°

Which is odd one of the following—
(A) Rain (B) Hail

S1.

52,

53.

' 54,

55.

56.

(C) Sleet (D) Snow
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57. According to Lacy’s theory the regime scour
depth R of a channel is—

_ B
(A) R=475./Q (B) R=135-
E 2/3
(©) R=O.47[%J (D) R=1.35[%)

(where Q is the discharge and fis silt factor.)

58. An aqueduct is constructed if—
(A) Canal run below the drain
(B) Canal run above the drain
(C) Canal water mix in drain water
(D) None of the above

59. The initial setting time of ordinary portland
cement should not be less than—
(A) 10 minutes (B) 30 minutes
(C) 60 minutes (D) 10 hour

60. Volume of one cement bag weighing 50 kg is :

(A) 0.345 m? (B) 0.0345 m®
(C) 3.450 m? (D) None ofthe above -
61. As per latest IS 456 high strength concrete
grade start from—
(A M55 (B) M 60
(C) M 65 (D) M70
62. Le Chatelier’s appratus is used for
testing—

(A) Slumptest

(B) Soundness of cement
(C) Setting time of cement
(D) Vee Vee test

63. As per IS 456 the total quantity of Dry
Aggregate by mass per 50 kg of cement, to be
taken as the sum of the Individual Masses of
time and coarse aggregate for M20 concrete—
(A) 250 kg (B) 500 kg

(C) 480 kg (D) 625 kg

64. For prop of beam having span more than 6
m. The striking period may be taken as—
(A) 7 days (B) 14 days

SET-A
57. oE fagra & oFER f&d T8 &1 W
TeTs R &l

2
(A) R=4.75,/Q (B) R=1359f—
1/3 213
(C) R =0.47 [%J (D) R= 1.35[%]

wiel Q frewr & W £ faee 1o €
58. <oy &1 T e s € afs-
(A) TeT, 78 & 9 ¥ o €
(B) e, T # W ¥ =t ©
(C) et &1 gt 7o & urt ® e S €
(D) SR § ¥ wE Tl
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60. 50 T = & S &1 =T B-

(A) 0.345 HP (B) 0.0345 #P

(C) 3.450 TP (D) SR HH FE 7Tl
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FHE F N T B 8-
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(C) M 65 (D) M 70
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FFe F fau o e 8-
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(C) 480 f&m. (D) 625 f&m.
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(A) 7 T s (B) 14 f&7 =g
(©) 21 &3 9] (D) 28 f@7 =]

(C) 21 days (D) 28 days
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65.

66.

67.

68.

(A) Bearing stiffener

For vertical deflection, span to depth ratio for
continuous beam having span upto 10 m—
(A)7 (B) 20

(C) 26 (D) 28

In a beam minimum area of tension
reinforcement shall not be less than—

bd bd

0.807¢ 0.85¢
(A) 080 B) 085F
bd bd

(©) 0.87F D) 0407
y ¥

Where b = breadth, d = effective depth,
L= characteristic strength

For the stress block parameter showing figure

)

=

f_ = Characteristic compressive strength of
concrete. B,

Fill the value in rectangular block—

(A) 0.87 f, xu (B) 0.04 1, xu

(C) 0.85 f xu (D) 0.36 f, xu

In the plate girder to provide local
reinforcement to a web under shear and
bearing, the stiffener use—

(B) Torsion stiffener

(C) Diagonal stiffener (D) Tension stiffener

69.

70.

The most economical section for a column is—
(A) Rectangular (B) Solid
(C) Tubular (D) Angle section

For a rectangular section the ratio of average
shear strom and maximum shear is—

12 3
@) 3 ®)
ny! 1
© 3 ®) 3

65.

66.

67.

68.

69.

70.
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%
f, = Characteristic compressive strength of
concrete.
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72,

73.

74.

75.

76.

77.

78.

Web crippling generally occurs at the point
where—

(A) Deflection is maximum

(B) Shear force is maximum

(C) Concentrated load act

(D) Bending moment is maximum

Web plate is called unstiffened if the ratio of
clear depth to thickness is less than—

(A) 35 (B) 55

(C) 65 (D) 85

Central deflection of simply supported steel
beam of length L with a concentrated load
P at center is—

w I ® 2
48EI 48EIl

o gyl
8EI 8EI

Plotting of inaccessible point on a plane table
is done by—
(A) Radiation
(C) Intersection

(B) Traversing
(D) Resection

The whole circle bearing of a line is 270° its
reduced bearing is—
(A) N90° W
(C) S90° W

(B) 90°W
(D) W 90°

Stadia techometry was discovered by James
Watt in the year—

(A) 1570 (B) 1670

(€©) 1770 (D) 1870

For a curve of radius 100 m and normal chord
10 m the Rankine’s deflection angle is—
(A) 1°45'95 (B) 1°25'95

(C) 1°35'95 (D) None of'the above

International date line is located along—
(A) 180° longitude

(B) Greenwich meridian

(C) Standard meridian

71

72.

73.

74.

75.

76.

T,

78.

(D) None of the above

10

SET-A
Ta FHufem @ fag W e ¢ vl
(A) fusman fawem
(B) Fd7 9@ sAfehan
(C) ¥&f5d ¥R &H W
(D) =7 el sfieRad

49 @i qumh W wead € AR YIS
TETdl TS HIRE F1 SHUM HH 8-

(A) 359 (B) 55¢

(C) 654 (D) 859

HYRY €ie o9 fSgst o= L@ gaisd
9R P %1 ®=4 faeere -

o P L

(A) 48El : ®) 48EI

o P o P

© 8EI (D) 8EI
TYRY A W Ty fagei &1 eed
foFa = 8-

(A) fafezor g (B) WIGIR@EA §N

(€) ¥ g (D) {&FH gW

et @ &1 Pign fKEwm 270° @ SH@
T REwAm gem—

(A) N90° W (B) 90°W

(©) S90°wW (D) W9a0°

sER g Rfew @il = @ f&
T8 § ® T i

(A) 1570 (B) 1670

(C) 1770 (D) 1870

100 H 1 & g% 1 a w1 10 W, 8
¥ faeurm o gm-

(A) 1°45'95 (B) 1°25'95

(C) 1°35'95 (D) SR # A FE Tl
iy 22 T feom Bt 8-

(A) 180° wiTficge W

(B) Fafas #ifemm w

(C) 5= #iifeqs W
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79. The moment of inertia of solid sphere—
1
(B) ngz
(D) None of the above

2
(A) 3 Mr?
(C) Mr?
(Where M = mass, r = radius)
80. The minimum number of rivetes for the
connection of a gusset plate is—
(A) 2 (B) 4
©) 6 D) 8
81. For the compound bar shown in figure, the

ratio of stresses in the portion AB : BC : CD
will be—

A B & D
2Pl——-——-—| 3P

pe—{ D —> 7p

L 4

€ 215 >€ L € 2L
(A)4:1:2 B)1:2:4
C)1:4:2 D)4:2:1

82. For a simple circular curve which one of the

following gives correct relation between radius

R and degree of curve D for 20 m arc length—

0 8 1719.8 R = 1718.9

WR=—"F2= @) R=—]p—
1817.2

(OR= D (D) None of the abvoe

83. If depth of simply supportéd beam carrying
an isolated load on its center, is doubled, the
deflection of the beam at the center will be

changed by factor of—
@z (B) 8
(C) 1/8 D) 12

84. Stress in a member of statically determinate
simple frame can be determined by—
(A) Method of joint only
(B) Method of section only
(C) Method of graphical solution only

SET-A
79. & 3T e H TS MO T

@) > 7 ® M2
(C) M (D) 39 ¥ &g el
(Se1 M =%=mm, r =)

80. el T wie & Wt ® fAU FW @ wW
foraa fifee #1 sravasa Bt 8-
(A) 2 (B) 4
©e6 D) 8

81. fa= # fe@rh ™t © = AB:BC:CD 5m
¥ yfqae &1 ST srm—

A B C D

P¢<— D —-2—?3» D72 é—z D —2p
M 1 ¥
et e 2L—>
(A)4:1:2 B)1:2:4
(C)1:4:2 D) 4:2:1

82. TH 20 Hl. & & U WYRY FUHR TF
ﬁﬁ?RQéwaﬁ%ﬁDﬁm
o 2—

o 171928 o 17189
AWR=—F= @ R=—(5—
R=1§-1D7—'8 (D) T E e
83. A% WHRY Wftd ¥ & T & T WD
w3 59 W 7eg § dafsd R o € @ =

A oy @ fowamm f= e @ ofEfa
- |

(A) 2 (B) 8

(€) 118 D) 12

84. Vfewell id et & frelt oo W whiew
T fEa s 2-
(A) g fafy @
B) wre fafy @
(C) mitres fafy @

(D) All the above method

1

(D) SWisa g+t fafiai |




85. Stiffness factor of a prismatic beam of length
L and moment of inertia [ is—

IE IE
) T ®) 51

21IE EIL
oy Oy

86. The force in BD of the truss is—

50KN 50 KN S50 KN

A\L B!L ‘L

C

E

(A) 500 KN compressive
(B) 50 KN compressive
(C) Zero

(D) 150 KN compressive

87. The bending moment diagram of the given
beam is—

(¢ i

(A) Rectangle (B) Triangle
(C) Line (D) Parabola

88. In given structure the BM atE is:

100 KN

gtk

20|mm

Omm § 20 mm
60|mm

(A) 100 KNM
- (B) 200 KNM

(C) 800 KNM

(D) Zero
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SET-A
85. Tt THeTEIER WF &1 @ L@ wig@

arpof M @ 3T fewad i gnm-
(A) z ®B) =z

L 21

2IE EIL
(Q) 5= D) =

86. =& M St ¥ /@ BDH wa B

50KN 50 KN S50 KN

A\L B} ]r

C

D
E
(A) 500 forg, w=ftes
(B) 50 f.=. wwiten

©) =
(D) 150 f&.=g, w=den

87. @ My F A Pl @ TN

(r w

(A) FEAFHR (B) SR
(C) drelt T@n (D) Waad

88. A ™ @ve ¥ EW T oMl %1 99 e

100 KN

Bl
20{mm
£ D
m 20 mm
60jmm
E
—_=—
(A) 100 =g
(B) 200 f.=gH.
(C) 800 fem.=gH.

D) 7=

XL



89.

90.

o1.

92.

93.

9%4.

In the given figure the triangular distribution
symmetric maximum load is w/unit. What

will be the length of the mid span at the end—

w/unit length

A B
L

WL 5 wr?
B i
%) 48EI (B) 192 EI
wi3 5 wr!

D s
© 120EI (D) 384 EI

In a sewer line manhole generally provided
at each—

(A) Bend

(B) Junction

(C) Change of sewer diameter

(D) All the above

The most efficient method of BOD removal is—
(A) Oxidation ditch

(B) Trickling filter

(C) Oxidation pond

(D) Aerated lagoon

The height of Pilot’s eye above the runway
surface is assumed—
(A) 3m
(C)7m

(B) 5m
(D) 25m

International Civil Aviation Organisation was
set up at Montreal in—

(A) Year 1929 (B) Year 1939

(C) Year 1947 (D) None of'the above

In a project the critical activity has—
(A) Maximum float

(B) Minimum float

(C) Zero float

(D) None of the above

89.

90.

91.

92.

93.

94.
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. SET-A
o & feemlt T e@ W HgeEr
IR w/EFTE o ¢ R W eIfuswad @
faram sm—

w/unit length
A B
! &
wL? 5 wWL?
A i e e
(A) 48EI ®B) 192 EI
w2 5 wrLt
8 D). =t
© 120EI (D) 384 EI

frdt dier oga § R e ORI
I -

(A) HiE T

(B) Siig W

(C) HiaX &1 =™ 9{eH W

(D) 39 asht feafaal o

el Feer & fou walen fafy 8-
(A) ST @

(B) fewfem s=1s

(C) ATt qrene

(D) TR= W

fFdt qgere =1 i@ &1 W9 9§ SaOR o
Wt B |
(A) 3 =i
(C) 7 =i

(B) 5 .
(D) 25 .

(A) &9 1929 B) 11939H

(C) §9 1947 § (D) IR § H1E el
frdt vetee o wifos el 8-

(A) 3tfman wie

(B) =JaH it

(©) I3 iR

(D) W ¥ w78



95. If sleeper density is M + 7 for 13 m rails, the
minimum depth of ballast under wooden
sleepers (250 mm x 130 mm) is—

(A) 20 cm (B) 25cm
(C) 30 cm (D) 36 cm

96. Inadiamond crossing in railways number of

noes are—
(A) 2 (B) 4
©) 6 (D) 8
97. Match the following—
List-1 List - 11
(a) Flare Triangulation (1) To measure
depth

(b) Fatho meter
(¢) Station Pointer
(d) Current meter

(2) Plotting sounding
(3) Very large side
(4) to measure flow

Code :
a b c d
A 3 4 1 2
B) 1 2 3 4
) 3 1 2 4
D) 4 3 2 1

98. For M60 concrete the permissible stress in
direct compression is—
(A) 18 MPa (B) 20 MPa
(C) 15 MPa (D) 13.5 MPa

99. The imaginary line joining the place of equal
declination on the surface of earth is known
P
(A) Isometric line

(C) Isotopic line

(B) Isogonic line
(D) None ofthe above

100. The horizontal angle between celestial body
and the pole, at the observer’s place on the

earth is—
(A) Bearing (B) Azimuth
(C) Nadir (D) Hour Angle

) SET-A

95. =f% 13 . @ & fau @R *7a M+ 721

FHEN F 250 mm x 130 mm TR & fag
TR w1 TS B

(A) 20 &L (B) 25 T,
(C) 30 & (D) 36 L.
96. WY ¥ TEHVE HET W AN & HEA
T
(A) 2 (B) 4
(€) 6 (D) 8
97. fr= o1 faem wifem—
il gt 1l
(a) TR TERA (1) TR 99H & fag
(b) e (2) TEfE @R A
: % fag
(c) B¥H UlE=R (3) wgd @il WRE % fag
(d) st 4) v 9= & fag
%2
a b & d
A) 3 4 1 2
B) 1 2 3 4
(C) 2 1 2 4
D) 4 3 2 1

98. TF M60 F@kie & fou se= divw aedfieq
wiaad g
(A) 18 MPa
(C) 15MPa

(B) 20 MPa
(D) 13.5 MPa

99. UF 9qW RaHye & fAam aw deafas
@1 & Fed E-
(A) SEEMige WE (B) SMgENIE wgT
(C) gTRINE @eT (D) S9ied | HiE &

100. 9 R wHaed @ W Adifae e ud
I & HeT & B9 hedrr —
(A) Repae (B) Tog
(C) =fex (D) STaT iy
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